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5.1 Conic Sections 2018-19
Identify each equation as a parabola (p), hyperbola (h), ellipse (e), or circle (c)
2 x?
_b_l- yT "5 =il L 26. center is (3, 4);foci at (5, 4)&(1,4);

L3 +2x—-4x* =12

e —
100 36 :
4424. e
2 2 5}2 4 ___.'..  pmmy
x| |y | == i)
9 9 9

vertices at (8, 4) and (-2, 4)
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Parabolas — Identify the direction of opening, focal width (ﬁ ) and the vertex (h, k) for each equation
(make sure it is in the correct form).
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Hyperbolas — Identify the center (h, k); the a value; the b value; and whether the transverse axis is
vertical or horizontal. (simplify the radicals, no decimals)
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Ellipse — Identify the center (h, k); the a value; the b value; and whether the major axis is vertical or
horizontal. (simplify the radicals, no decimals)
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Circle — Identify the center (h, k); and the radius (simplify the radicals, no decimals) == e
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